WORLD CITIES

LAGOS

NAME: CLASS: DATE:

Click or tick the correct answers

1) Which country is Lagos located in?
a) Cameroon
b) Ghana
c) Nigeria

2) Which state is Lagos located?
a) Lagos state
b) Benin state
c) lkeja state

3) Which year did Lagos stop being a capital?
a) 1991
b) 1992
c) 1993

4) Which city replaced Lagos as capital of the country in question 1 above?
a) Port Harcourt
b) Abuja
c) Kaduna

5) Lagos is one of the world’s five largest cities. True or False?
a) False
b) True
c) None of the above

6) Which is the city’s principal ethnic group?
a) Haousa
b) Igbo
c) Yoruba

7) What’s the most commonly used language in Lagos?
a) English
b) French
c) Spanish

8) When was the university of lagos built?
a) 1960
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b) 1961
c) 1962

9) Which group of European traders visited lagos in 1472?
a) English traders
b) Portuguese traders
c) Spanish traders

10) Lagos was annexed by the ?
a) British
b) French
c) Spanish

11) In which year was Lagos annexed?
a) 1861
b) 1862
c) 1863

12) Which year did Lagos became the capital of its country?
a) 1958
b) 1959
c) 1960

13) What was the population of Lagos by 2003?
a) 20.1 million
b) 10.1 million
c) 15.1 million

14) What’s the surface area of Lagos?
a) 3928 sq km
b) 3345sq km
c) 4533 sg km

15) Lagos is located in the ?
a) Bight of Benin
b) Bight of Abuja
c) Bight of Ikeja
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1) Which country is Lagos located in?
a) Cameroon
b) Ghana
¢) Nigeria

2) Which state is Lagos located?
a) Lagos state
b) Benin state
c) lkeja state

3) Which year did Lagos stop being a capital?
a) 1991
b) 1992
c) 1993

4) Which city replaced Lagos as capital of the country in question 1 above?
a) Port Harcourt
b) Abuja
c) Kaduna

5) Lagos is one of the world’s five largest cities. True or False?
a) False
b) True
c) None of the above

6) Which is the city’s principal ethnic group?
a) Haousa
b) Igbo
c) Yoruba

7) What’s the most commonly used language in Lagos?
a) English
b) French
c) Spanish

8) When was the university of lagos built?
a) 1960
b) 1961
c) 1962

9) Which group of European traders visited lagos in 1472?
a) English traders
b) Portuguese traders
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c) Spanish traders

10) Lagos was annexed by the ?
a) British
b) French
c) Spanish

11) In which year was Lagos annexed?
a) 1861
b) 1862
c) 1863

12) Which year did Lagos became the capital of its country?
a) 1958
b) 1959
c) 1960

13) What was the population of Lagos by 2003?
a) 20.1 million
b) 10.1 million
c) 15.1 million

14) What’s the surface area of Lagos?
a) 3928 sq km
b) 3345 sq km
c) 4533 sg km

15) Lagos is located in the ?
a) Bight of Benin
b) Bight of Abuja
c) Bight of Ikeja
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